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(@ Explain : Rules of Determinants.

(b) Solve the equations, using Cramer's Rule
4x+10y =2xy, Sx+16y =3xy

OR

find the value of k.

2
Prove that . a |=x(x+a+b+c),
xXx+C

Explain : Unit matrix, Skew-symmetric matyix.
Adjoint matrix.

i€ 4]t °1 45=[* '] find Matrix B,

g Is 1]

OR

Shree H.N.Shukla College of I.T & Management ”Sky is the Limit”




SHREE H. N. SHUKLA COLLEGE OF I.T. & MGMT.

(AFFILIATED TO SAURASHTRA UNIVERSITY)
3- Vaishalinagar 2 — Vaishalinagar
Nr. Amrapali Railway Crossing Nr. Amrapali Railway Crossing
Raiya Road, Rajkot — 360001 Raiya Road, Rajkot - 360001
Ph. No—(0281)2471645 Ph.No—(0281)2440478, 2472590

Using inverse matrix solve the following equations :

2v=3y+z2=3, X+ p=-2:=-13x-2y+2:=8

Attempt any three:
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(a Explain : Compound Interest.
(b) Explain : Present value of an Annuity.
OR
Explain : Sinking Fund.
At what percent rate of simple interest a sum will
double itself in 25 years ?
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